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10Gbps TCP

1.06~1.08f%

8Gbps UDP

6Gbps bridge: 2.91%
openvswitch: 2.3f%

e macvtap: 2.8

2Gbps I - I

OGbps —— .

TCP o4 128 256 512 1024 1280 1518



virtio-net v.s. vhost-net: Latency: TCP: TX

W virtio-net/bridge B virtio-net/openvswitch [ virtio-net/macvtap
B vhost-net/bridge B vhost-net/openvsiwtch [ vhost-net/macvtap
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virtio-net v.s. vhost-net: Latency: TCP: RX

W virtio-net/bridge B virtio-net/openvswitch [ virtio-net/macvtap
B vhost-net/bridge B vhost-net/openvsiwtch [ vhost-net/macvtap

1,000 us

100us

10us




virtio-net v.s. vhost-net: Latency: UDPo64: TX

W virtio-net/bridge B virtio-net/openvswitch virtio-net/macvtap
B vhost-net/bridge B vhost-net/openvsiwtch [ vhost-net/macvtap

10us

'I US 3%, = i
50th % 90th % 99th % Mean



virtio-net v.s. vhost-net: Latency: UDP64: RX

TR

W virtio-net/bridge B virtio-net/openvswitch [ virtio-net/macvtap
B vhost-net/bridge B vhost-net/openvsiwtch [ vhost-net/macvtap
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virtio-net v.s. vhost-net: Latency: UDP1518: TX

W virtio-net/bridge B virtio-net/openvswitch [ virtio-net/macvtap
B vhost-net/bridge B vhost-net/openvsiwtch [ vhost-net/macvtap

10us

lus h = T
50th % 90th % 99th % Mean



virtio-net v.s. vhost-net: Latency: UDP1518: RX

W virtio-net/bridge B virtio-net/openvswitch virtio-net/macvtap
B vhost-net/bridge B vhost-net/openvsiwtch [ vhost-net/macvtap

10us

50th %
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{£U\A: bridge

. virt-manager Z{E-> TREI 2DHFHE (i)

. libvirt DR EZEZEREU TERET 2HSIFLLTD
K DICEKTE

&= # virsh edit (guest name)

<interface type='bridge'>
<mac address='52:54:00:05:71:4d"'/>
<source bridge='bro'/>
<model type='virtio'/>
<address type='pci' domain='0x0000"
bus="0x00"' slot="0x03" function='0x0"'/>
</interface>




27 -1JU(F)

{£L\A: bridge

FEv (M) B®R(V) F—DER(K)

- s >
g
AJ=l =) R7(R)

@lLEICEHN

A FHVHYERO N

Overview
Performance
Processor

Memory

Boot Options
VirtlO Disk 1

IDE CDROM 1
NIC :05:71:4d

5Tk

VIR

T4 ATLT VNC

Sound: ich6

Serial 1

Channel

EFAnN—K
Jvk0->— USB
JVk0O-=5- IDE
JYk0O—>- Virtio Serial

N—=F2T7EEMD)

\ guest RV

BBV DO —-D1Y5-01x—-2

B | #ETI A 2B
V=271 R:

<

T wIHA(B): |bro

FIRAREFIO0): [vinio
MAC PRL X: 52:54:00:05:71:4d
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AR (R)
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WA(A)




£ UL\ openvswitch
. IHEFE T virt-manager TERE TE7ZR0)
o libvirt 7 0.9.11 LIEDFZEIFUTD X D ICEKE
% C & TRERFICHEIRIC openvswitch @ bridge
TSI NS
1= —E virt-manager T bridge &[EIERIC
TH'S virsh edit TiREIT 2DHHE

<interface type='bridge'>

<mac address='52:54:00:05:71:4d"'/>

<source bridge='ovs0Q'/>

<virtualport type='openvswitch'/>

<model type='virtio'/>

<address type='pci' domain='0x0000"

bus="0x00"' slot="0x03" function='0x0"'/>

</interface>
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£\ macvtap

. virt-manager Z{E-> TREI 2DHFHE (i)

. libvirt DR EZEZEREU TERET 2HSIFLLTD
& D ICEXTE

<interface type='direct'>
<macCc address='52:54:00:05:71:4d"/>
<source dev='eth@®' mode='bridge'/>
<model type='virtio'/>
<address type='pci' domain='0x0000'
bus="0x00" slot="0x03" function='0x0"'/>
</interface>

. macvtap IE Linux Kernel 2.6.34 (& EI&E
. Linux Kernel A 2.6.34 BIFETH iproute2 A
macvtap ICHIHUTHEWEFIETERVWD TER




£\ macvtap

>

\ guest RV
Z27TIU(F) BV (M) BWR(V) F—0EE(K)
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Performance
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Memory FINAREFIO): | virtio &
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{f5ULVA: vhost-net

. libvirt ZFJAH U TWSFEE L vhost net t\,\jﬁ%ﬁu
M kernel module H' load 2N TWLWNIXBEIRIC
vhost-net HWMERHE "5

. gemu-kvm DEITH 5| &=L vhost=on & 7%
> TWT gemu-kvm @ PID [ZXFId % vhost-PID
EWSZREID kernel thread A TWLWIE OK

# ps —ef

|II'I'I||

gemu 13740 1 46 14:21 ? 00:00:10 /usr/bin/gemu—kvm —name guest
. —hetdev tap, fd=23, id=hostnet®,vhost=on,vhostfd=24 ...

root 13766 2 0 14:21 ? 00:00:00 [vhost-13740]



QEMUT.0 v.s. QEMUT.2: TX

B 10/vhost/bridge B 10/vhost/openvswitch [ 10/vhost/macvtap
B 12/vhost/bridge B 12/vhost/openvswitch B 12/vhost/macvtap
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QEMUT.0 v.s. QEMUT.2: RX

B 10/vhost/bridge B 10/vhost/openvswitch [ 10/vhost/macvtap
B 12/vhost/bridge B 12/vhost/openvswitch B 12/vhost/macvtap

10Gbps

8Gbps

oGbps

4Gbps

2Gbps

OGbps

o4 128 256 512 1024 1280 1518



